
6ORYHQVNi�DJHQW~UD�åLYRW��SURVWUHGLD

+ODYLþND�REMHGQiYN\

'UXK ýtVOR�REM� 'RGiYDWHĐ 'iWXP�Y\VW� 7HUPtQ�RG 7HUPtQ�GR +RGQRWD�>¼@ 0HQD ,ý2 2EHF 7ODþ KRYBSR]Q

12� 2%������� &DUVHUYLFH�V��U��R� ����������������� ��������� ��������� ������ (85 ���������� %DQVNi�%\VWULFD $ RSUDYD�609

12� 2%������� %2&$�%%�V��U��R� ����������������� ��������� ��������� �������� (85 ���������� %DQVNi�%\VWULFD $ ]DEH]SHþHQLH�6'5

12� 2%������� $XWR&RQW�6.�D��V� ����������������� ��������� ��������� �������� (85 ���������� %DQVNi�%\VWULFD $ WRQHU\

12� 2%������� $�5�6��V��U��R� ����������������� ��������� ��������� ������ (85 ���������� %DQVNi�%\VWULFD $ SQHXPDWLN\

12� 2%������� /DQGXUELD ����������������� ��������� ��������� ���� (85 ���������� %DQVNi�%\VWULFD $ IRWRJUDILH

12� 2%������� 5(1$5�6/29$.,$��V��U� ����������������� ��������� ��������� ������ (85 ���������� %UDWLVODYD $ SUHSUDYD

12� 2%������� $XWRQRYR�D��V� ����������������� ��������� ��������� ������ (85 ���������� %DQVNi�%\VWULFD $ VHUYLVQi�SUHKOLDGND

12� 2%������� =E\ãHN�+RãHN�D�V\Q ����������������� ��������� ��������� ���� (85 ���������� äHOH]Qê�%URG $ FHQ\

12� 2%������� 3DVWLHURYLþ�âWHIDQ ����������������� ��������� ��������� ���� (85 ���������� %DQVNi�%\VWULFD $ ]QDOHFNê�SRVXGRN

12� 2%������� %63 ����������������� ��������� ��������� �������� (85 ���������� %UDWLVODYD $ OLFHQFLH

12� 2%������� %63 ����������������� ��������� ��������� ��������� (85 ���������� %UDWLVODYD $ OLFHQFLH

12� 2%������� /(;0$1�7(�V��U��R� ����������������� ���������� ���������� �������� (85 ���������� %UDWLVODYD $ SUHNODG

12� 2%������� 7RþRĖ�0LURVODY�07 ����������������� ��������� ��������� ������ (85 ���������� 6SLãVNi�7HSOLFD $ SUtSUDYD�SUHG�67.

12� 2%������� $XWR&RQW�6.�D��V� ����������������� ��������� ��������� ����� (85 ���������� %DQVNi�%\VWULFD $ RSUDYD��GLDJQRVWLND

12� 2%������� $.5$�UHNODPD�V�U�R� ����������������� ��������� ��������� ����� (85 ���������� %DQVNi�%\VWULFD $ YL]LWN\

12� 2%������� 0LURPD[ ����������������� ��������� ��������� ������ (85 ���������� %DQVNi�%\VWULFD $ KDV��SUtVWURMH

12� 2%������� .LFVLQGLRYi�(PtOLD ���������������� �������� �������� ���� (85 ���������� .ROiURYR $ FDWHULQJ

12� 2%������� .LFVLQGLRYi�(PtOLD ���������������� �������� �������� ���� (85 ���������� .ROiURYR $ FDWHULQJ

12� 2%������� %,20(75,&�V��U��R� ���������������� �������� �������� ���� (85 ���������� %UDWLVODYD $ SRGSRUD

12� 2%������� $XWR&RQW�6.�D��V� ���������������� �������� �������� �������� (85 ���������� %DQVNi�%\VWULFD $ V\QFKURQL]iFLD�H�PDLO

12� 2%������� 0LOYDU�V��U��R� ����������������� �������� �������� ���� (85 ���������� %DQVNi�%\VWULFD $ VWUDYQp�OtVWN\�����

12� 2%������� 9$â$�6ORYHQVNR ����������������� �������� �������� ���� (85 ���������� %UDWLVODYD $ VWUDYQp�OtVWN\�����

��6RIWLS�D�V���%DQVNi�%\VWULFD .2'��QHREVDGHQ\! 9\WYRUHQp�GĖD� 6WUDQD�1.3�=;��������� ������������������ ��]��


